Step by Step Sanskrit Learning Programme. Level 1, Month 3, Lessons 14 - 17D

Lesson 14. About Him and Her and not forgetting It.

Little Bo-Peep, Little Bo-Peep lost Little Bo-Peep's sheep,
And didn't know where to find the sheep.

Doesn't sound quite like the one we learnt at kindergarten, does it?
Without those pronouns, the nursery rhyme sounds horrendous. And so
will our sentences if we don't begin with their study and use.

We have already, albeit unwittingly, been using pronouns... but only the
subject forms. If i say, '318 &: mrﬁq,' i would make no sense at all. i must

use the object form and say," 3% d 13IT*“'IT'I'T=II "isee him.
Pronoun table, where art thou? We need you desperately right now!

ag (38 ) 9f@F That/ He

femfe I fga=m ERERT
YYHT subject q: ar d
fedran object dHq. at IG
AT by, with A ana a:
dg (98 ) TYEHISE That/ It

ferfR THIE fga=m ERERC
YT subject dd/ ag d e
fEd object dd/dg d am=
g by, with o= ana a:
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dg (98) &% That / She

frf T FEEC ERERC
HYPHIsubject a1 d dr:
f&d™ object am, d an:
g by, with an angm™ GIIEE
Compare the dg (That )tables with the Tdg (This).

udg (F2) 9fg§ This/ He

ferfe THA fga=e ERERL]
YPHIsubject REE i od
fgei T object T, ol T,
a‘?ﬁ?ﬂ by, with T A Tq:

g (J8) AYEHRIGE This/ It

fenfe RET T e ERERD
IHTsubject Udd/Tdg aq TqT=
f&<a object REEVAE T RGIIE
g by, with RGE| UARH ad:

g (JE) BST This/ She

fenife RCEET fga= agaae
YHIsubject RE| ad qdr:
f&d™ object UdH T udr:
g by, with | <@ TARR, T

Brain teaser

Notice how pronouns do not have the "whatever &« " tag.
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Can anyone tell me what i mean by that statement?

Early bird prizes!

One glance at today's lesson and all of you will be screaming," Off with the
teacher's head! How can we be expected to memorize six new tables in one
session?"

My dears, first of all, go through the Jagadeeshah Lesson no. 5. Are you

done? Now look carefully at the lot. Concentrate on the dg. You already
know the subject forms of 9e and o | The do do of the 9o and the d9e

are the same. The first two vibhaktis of the 9e are identical.

Now concentrate on the Tdg | Ditto similarities. Even better...the ¥dg and

the dg group rhyme, gender for gender.

AND if you have been conscientious students, you would have memorized
the first three noun vibhaktis of all genders. AND you will realize that but
for a few exceptions, pronouns rhyme with their noun gender

counterparts- Shld Yo , k[ 9o, AR o
So i cannot be accused of overburdening my students. Not at all.
A few sentences now to see how the pronouns are used.

O HH ARG | 318 dd FSh T2ATH | 31 dd FH T3 |

HTEE: TTesid | 9: ITECR Tsid | a9 T8 w3d: 3 IR O ITRECRE
T=3d: |

gl 3T Tfedt | TTTel GEaahliel a9 GST: | Tellel Geadhiiel ST 38 gl
R |

A Ul | FHST Y ST G Il | o o 929+ | 3% =
TR ARl e STEH Y IufaRmiv |

That should give you a fairly good idea. Shall we move on to our exercise

session? No, no, not the gym kind, the pencil- paper one!
Over to Lesson 14. A. ( By the way, please do not miss Supplements 6 and

7...they contain the complete dg and Wdgq tables.)
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Lesson 14 A. Exercises with dq and Yda

Nouns/ Pronouns Verbs Avyayas.
3T9YT shop M gl (T9@Md) worship 3TH. Yes

2T vegetables M =l (SIUTTId) buy dgA~ Afterwards
qrRiJe kitchen N. S (ASAMd) wash

d bag M g (FTE) sing

Hd mouth N

Note: You can convert a statement into a question by
® Beginning the statement with MY or Y |

¢ Ending the statement with T%EIU
For instance: o WW'\I'H | You want a fruit.
A & o TR? & ToH I
o Lhcé*—Ls‘m@lQ-l |(3h4-L? All three mean: Do you want a fruit?

Note 2. Classical Sanskrit did not have punctuation marks suchas ? !,
and other such. It simply hadal and a Il

Placement of words in the sentence, or the choice of words would tell the
reader if the sentence was a query, or if it conveyed amazement or horror
etc.

English and other languages do have punctuation marks and so, many
writing in Sanskrit in these modern times have adopted these marks for
the benefit of readers.

il (a%wn%r) buy, is another maverick. Refer to this table to do the exercises.

o

9 Thdd [ECED Jgadd
aY T HIuTd: luTled
e 15 T Hiune: HIonY
3dH HIOTH EALICH HIOT:
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CLUE: When i combine a noun and a pronoun together as in "That man, "
be sure to pick the noun first from the appropriate vibhakti and then pick
the pronoun from the same vibhakti... and then use the two as a combined

group. d A, R AE, o+ &%, I91 HISAT |

Q1. Translate.
1. When Kamala goes to the cinema, then Shweta too goes to the
cinema.
Kamala goes with Shweta to the cinema.
The two girls go to the cinema.
Sujata sees the two of them.
The two girls also see her (i mean Sujata.)
All of them do not go the cinema but they go to school.
Kamala and Shweta are girls.
Sujata is the teacher.
. The father sees Ram.
10. Ram is not studying.
11. He is playing with a boy.
12. Father holds a stick with his hand.
13. He goes towards the two boys.
14. Father beats Ram with that stick.
15.You see the students .
16. They are going towards the temple.
17. They enter the temple.
18. They see God.
19. They do namaskara to Him.
20.They are holding flowers.
21. They worship God with those flowers.
22 With flowers, fruits and water, | worship God.
23.1 go to the kitchen.
24.There are no vegetables there.
25.1think ," I am going to the shop. Vegetables are there." ...thus.
26.1 hold a bag.
27.The shop is there.
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28.1 go to the shop with Smita.

29.Smita asks," Are you buying vegetables with money?"

30.1 say,"Yes."

31. The two of us go to the shop.

32.1 go to the shop with her.

33.We want vegetables.

34.We want fruits and flowers too.

35.But there are no fruits or flowers there.

36.They are elsewhere.

37.We see vegetables there.

38.We buy them with money and come home.

39.We see Raghava.

40.Now Smita , Raghava and | go to the kitchen.

41.1 go to the kitchen with them.

42 .We wash the vegetables.

43.We wash them with water.

44 With these vegetables, a meal is done. (Thus i fail my English exam!)

45 Then (afterwards) we hold those vegetables with our hands (use the
plural) and eat them with our mouths (plural)

46.The gardener is making a garland with flowers.

47.With this garland, he is worshipping God.

48.Here is a book.

49.1 am reading this book.

50.There, there are books.

51.1 am looking at those books. (Make sentences with both Y&I%H_and
)

52.This is Smita.

53.With her, | go to the garden.

54 These are Prakash and Kedar.
55.With all of them, | go the garden.

Q2. First translate and then convert TT( ST into TS using any of the
three options taught at the beginning of T§: TI&: |

1. You are eating.
2. Heis singing with Radha.
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He is playing with him.

You are coming home with her.

Those two boys are reading those two books .
She wants water.

He is playing with a ball with Shyam.

N O AW

3k 3k 3k 3k %k 3k %k %k %k %k %k *k k
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Lesson 14 B. Answers to Lesson 14 A.

1. When Kamala goes to the cinema, then Shweta too goes to the
cinema.
T FHA [AGEIE TTo3(d Al &l AU 9 TS5 |
2. Kamala goes with Shweta to the cinema.
FHS! Aq T8 PSR T=3(d |
3. The two girls go to the cinema.
s FMEITR T=3d: |
4. Sujata sees the two of them.
AT d 924 |
5. The two girls also see her.
Micseh o114 af T=9a: |
6. All of them do not go the cinema but they go to school.
an: e R A Tafed 93 dl: [Haied T=sied |
7. Kamala and Shweta are girls.
HHS! & 4 STk & |
8. Sujata is the teacher.
AT ST AR |
9. The father sees Ram.
STeh: T 9240 |
10. Ram is not studying.
TH: € 95 |
11. He is playing with a boy.
H: TS T8 el |
12. Father holds a stick with his hand.
STeh: &%d que ¥d |
13. He goes towards the two boys.
|: TEH i TS |
14. Father beats Ram with that stick.
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STh: o gUeA UH dredrd |
15. You see the students .
& SEM =T |
16.They are going towards the temple.
d Hivgl 9fd =3 |
17. They enter the temple.
d Afegy fomrfe |
18. They see God.
d <@ gl |
19. They do namaskara to Him.
dd i |
20.They are holding flowers.
o EATT YR |
21. They worship God with those flowers.
dd: g5t 39 qerEted |
22.With flowers, fruits and water, | worship God.
It Hioh: ST T8 I8 o o |
23.1 go to the kitchen.
2 TR TSI |
24.There are no vegetables there.
= R 9 Gied |
25.1 think," | am going to the shop. Vegetables are there." ...thus.
I8 TawcTaTH, " STEH STIUT ITSsT¥ | o= FeRT: |iedd | 31 |
26.1 hold a bag.
32 S T |
27.The shop is there.
IMYUT: = 3T |
28.1 go to the shop with Smita.
32 RAT |8 19U =31 |
29.Smita asks," Are you buying vegetables with money?"
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R gesfd,” <1 o beie 2RI shium 2"
30.1 say,"Yes."
32 9q1H, ")
31. The two of us go to the shop.
AT 90T =3 14: |
32.1 go to the shop with her.
32 1 FE AU} TSI |
33.We want vegetables.
A 26 T=BE: |
34.We want fruits and flowers too.
3Gt Tl ETIT MY S=7a: |
35.But there are no fruits or flowers there.
U] = b« a1 JEATIOT T A Eied |
36.They are elsewhere.
el == e |
37.We see vegetables there.
EIEIREREAC R ERICH
38.We buy them with money and come home.
Mt AT b 0T I8Y N T=sE: 1 |
39.We see Raghava.
el o 9= gE: |
40.Now Smita , Raghava and | go to the kitchen.
ITYAT AT o 18 9 I8 7T=3™: | Refer to Lesson 7 A )
41.1 go to the kitchen with them.
IR AR 98 JEIJE oSt |
42 .We wash the vegetables.
% TR SSTAH: |
43.We wash them with water.
T AT A eHa™: |
44 With these vegetables a meal is done.
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FMeh: WISt Waid |
45 Then (afterwards) we hold those vegetables with our hands and eat
them with our mouths .
dgd= 34 HHW{@[: Y{H: g@[: d[q E|iqH: 4
46.The gardener is making a garland with flowers.
TISTEN: 5 A T |
47.With this garland, he is worshipping God.
T IS |: <8 I |
48 Here is a book.
I Qe A | 373 T+ e: 1 |
49.1 am reading this book.
I Tid Teeh ST | T8 TTH T+ 93T |
50.There, there are books.
= G e | o e |ied |
51.1 am looking at those books.
M QAN Tl G=ATH | T AT T =AM |
52.This is Smita.
T T |
53.With her, | go to the garden.
91 §E 3eH S 1531 |
54 These are Prakash and Kedar.
Tt SRR HER: | |
55.With all of them, | go the garden.
ud: HE STEH U TS |
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A2. Translated and converted into questions.
1. You are eating. @ @ |

Are you eating? f o @@ 2
2. He is singing with Radha. ©: {1<91 @& 141 |
Is he singing with Radha? Y G T T8 TAF(CA?
3. He is playing with him. @: o< @& el |
Is he playing with him? &: o+ 9 #ield R?
4. You are coming home with her. o dAEE ‘1&*{31!*!%9!?{ |
Are you coming home with her? foh o & ‘1&&%”@9@1 ?
5. Those two boys are reading those two books . dt A@H d g(—dgb qa&d: |
Are those two boys reading those two books? MY it TS d gﬁdgh q&d:?
6. She wants water. &1 J5H g=3(d |
Does she want water? @1 F&H g=3(d (6 ?
7. He is playing with a ball with Shyam. 4: WA 98 Ohrgghd @ |
Is he playing with a ball with Shyam? f @: 2aHE T8 chrgav-l Gd ?

3k 3k 3k 3k %k %k %k 3k %k %k *k
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Lesson 15. The Chaturthi on Chaturthi.

The simple pleasures of life! i'm just so happy to be able to introduce
the Chaturthi vibhakti on the occasion of Gaesha Chaturthi!

By now you would be comfortable with our supplement tables and
would be referring to it when the occasion demands that you do. Shri
Occasion will be in the demanding mood henceforth. With reference tables
in our supplement section, let's use our precious lesson space for new
concepts.

Whenever i think of the ﬁﬂ?ﬁ ﬁ'ﬁlﬁﬁ, heroes of stories written by
Victorian writers come to mind. Generous, masterful yet quick to express
anger and jealousy. The ﬁﬂ?ﬁﬁ‘*ﬁﬁ governs an entire range of similar

emotions.
One of our prime rules taught somewhere right at the beginning states

that 3 (FTS31d) is governed by the fgciian IR | No matter what form the
¥TH_ takes, inits avatar as a verb, in any tense or mood, the place that you
go to is ALWAYS chosen from the fectan fnfe |

Similarly the ﬂﬂ?ﬁ R governs the following 9Td- s, when they appear in
a sentence....

e T (FB() To give

o T (FAI) To be angry

o %(WT%I) To be angry
e HY (FJAM) To tell

....and the A=A s, dH: and the three " ¥ " beginning ones- EI&], Hﬁﬁ,

&9l | There are many more ¥Iq s that our ﬁﬂ?ﬁ foR controls but we can

cover them at a later date. The ones introduced today are the ones we
require the most.
Are your reference tables handy? Here we go...

AE TSN | give. M T T=31MH | give a fruit.
This much is clear. NOW is when the %@?ﬁ makes its appearance.
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I ASHE T T3 |
e Whoever i give the fruit to ( or for that matter, whoever i give or not
give anything to) that whoever falls into the ﬂﬂ?ﬁ ferres |
q: THE G T53td | T Ao I I53(d | & 9T S T34 |
1 O I 9 T3 |
e Whoever i am angry( or not angry) with, that whoever falls into the

[aNIgE aN o

g foRIRE - J9: TGEE FA/FAN | T9: TSHE A FA |
e Whoever i wish to tell (or not tell) something to, that whoever falls
into the el fopAfek - 12 Farsama werant | o7 s =1 weanfy |
NOTE: Telling someone is different from speaking to someone.
The person you tell (or do not tell), falls into the ﬂ@iﬁﬁl‘*ﬁﬁ and the
person you speak (or do not speak to) falls into the fgdran fonafe |
Therefore 3¢ d&3 HIETH | tell her...maybe a story or a secret.
I i EE{F'I'J\? | speak to her...softly. angrily, lovingly, whatever.

3 T | FYAY | 3 df 9 9 | Crystal Clear?

Now let's take a look at the 31 s.

ofi ORI =19 | (Have you ever heard of a 1t 707at s19: | Hope not. That

would be an absolute no no.)
dH: is an AFT | It means " salutations " Whoever you do 9H: to falls into

the ﬂﬂ?ﬁﬁ‘*ﬁﬁ | ThereforeSIT{'q’IaFlH: | Salutations to Sharada.
ft VETIRIE O 79: | Tt QE-TeE 99: | SHMRSRE! 91: | Both Uma and
Maheshwar, therefore the dual. Similarly, SEHIEURLT =4: |

NOTE: «H: is an 3194 | The form of 9H: never changes and is always used

with the ﬂﬂaﬁﬁ?ﬁﬁl But ©¥H_is a Yld and when used as a verb ?l‘{(-'-lﬂﬁ'l),
the verb form MUST agree with the subject.

For example: THM™ a8: | BUT 38 TH H1H| §: TH 7H(d | & TH 78 4| i
hope i have been able to explain this idea clearly.
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Let's look at the ¥ group:
These three mean " FAT0T &" , "Let there be good/welfare" -
R @i |

&l is used for the Gods.., in rituals that involve the Lord

30 JTUTY &_l

1 is used for rituals involving our forefathers / ancestors ....frequently in
all the "2 ceremonies.

You will recognize these 319 s now in most vedic mantras, keep a watch

out for when ¥&T is used and when &4 |

All this while, if you have tried to translate the Sanskrit into English, you'd
be making "funtastic" sentences. The king is angry for the boy. Yipes and

double yipes. Now let's see where the ﬂﬂ?ﬁ Ik makes perfect sense.
I W™ a3 | go to the lake for a bath.
9: TS faanad 7=sid | He goes to school for study(!)

Time now for the exercises in Lesson 15 A. Lots of new concepts in this

lesson but it was fun, wasn't it?!
3k 3K 3k 3k %k oK 3k sk k ok ok

www.chitrapurmath.net © Shri Chitrapur Math 2002-2017 Page 1102



Step by Step Sanskrit Learning Programme. Level 1, Month 3, Lessons 14 - 17D

Lesson 15 A. Exercises with the Chaturthi Vibhakti.

NOTE: The verbs and avyayas that are used specifically with the %@%ﬁ e

have already been discussed in lesson 15. Any new verbs that you will find
in Lesson 15 A can be used with other vibhaktis as well. They need not be

used with the ?ﬁ%ﬁﬁﬂ-'lf%ﬁ alone. They have been introduced here simply to

build your vocabulary.

Nouns/ Pronouns Verbs Avyayas.
9% farmer M a9 ( E|13r'|%l) sow aH:
S&UT Brahmin M g (ﬂﬁ’l%l) cry @R
IR shopkeeper M | Y ( Wﬁ ) angry gd_ that (as in the
Hi# Liberation M 9. (@?ZH%I) angry sentencers]:
H141q palace M Y (FIAM) tell He >ays that
‘EITT*’JgFr)ain \ 'q’[(qa”l%)give | think that...
eI milk N A+ (BTFW%) bring Ad: Therefore
<l seed N
& bath N
944 study N
®]g bathroom N

9 happiness N

¢:d unhappiness N

&l shame F

9 crop.N

Please do a quick revision of all the lessons done so far before you attempt
to translate the passages. Pay special attention to the pronouns or else
they are sure to trip you up. (When i was first introduced to those
pronouns, i not only tripped but fell flat on my face. Don't want you to
suffer the same fate. Believe me, it's positively boring to go through life
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with a flattened nose. There's nothing left of it to poke into someone else's
business.)

CLUE: When i combine a noun and a pronoun together as in "That man, "
be sure to pick the noun first from the appropriate vibhakti and then pick
the pronoun from the same vibhakti... and then use the two as a combined

group. d A, T AE, o &6, 991 {11 |

Okey, dokey? Shall we begin?
Translate.

This brahmin wants wealth.

Therefore he goes to the temple.

He does namaskaar to God.

He says, " Salutations to this God! | want wealth," so.

That God tells that brahmin that, "Kings give wealth to brahmins, |
give liberation to devotees."

Then that God does not look at that brahmin.

He looks elsewhere.

That is God.

. Is that brahmin getting angry with Him?

10.No.

11.He thinks, "I am going to the king for wealth," so.

12.Now that brahmin does not wait but goes to that palace.

13.He does namaskaar to the king and says, " Salutations to this King!
14.1 do not want unhappiness.

15.Therefore, for happiness, | want wealth."

16.That king gives that brahmin wealth.

17.He gives him clothes too.

18.Now that brahmin becomes a rich man.

19.He always lives with happiness. (what i mean is ...he lives in comfort!)
20.The farmer sees that brahmin.

21.He thinks that | also want wealth.

22.But | am not going to that king for wealth.

uhwnN e

© 0N o
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23.1 am sowing seeds for grain.

24.When people buy those grains with wealth, then | am also becoming
a rich man.

25.The girl is crying.

26.The boy asks her, " Are you crying?" ..thus.

27.That girl says, "Yes. | am crying for milk."

28.Then that boy goes to the kitchen.

29.He sees milk there.

30.He brings milk for that girl.

31.He gives her milk.

32.She laughs.

33.He also laughs with her.

34.Those boys are playing with those bats and those balls.

35.Ram beats Shyam with that bat.

36.Shyam falls.

37.He becomes angry with Ram.

38.Therefore, he also beats him.

39.Now Ram falls.

40.War happens (yipes!).

41.Father comes.

42.He tells all the boys, " | am angry with these two boys."

43.They (dual) cry with shame.

44.With Father, they (dual) go home.

45.Then Ram goes to the bathroom for a bath.

46.Afterwards Shyam goes to that bathroom for a bath.

47.The shopkeeper goes to the shop.

48.When he enters the shop, then he sees a thief.

49.He gets angry with that thief.

50.He says to him that all the people too come here.

51.But they buy grain or cloth or books with wealth.

52.But you are a thief.

53.You enter the shop and steal grain, cloth, books and wealth.

54.You are a bad man.

55.Then that shopkeeper beats that thief with a stick.

56.People run towards the shop.
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57.Now on all four sides of the shop, are those people.

58.They ask that shopkeeper, " Where has this thief come from?"
59.Then they also become angry with that thief .

60.They stand on two sides of the thief and beat him with (their) hands.

61.There, is a school.( Use the word YI&2TAT )

62.From here students are going to that school for study(Oh, Lord!)
63.From there also students come to this school for study.

64.They all come to this school for knowledge.

65.The teachers say, " Let there be welfare to these students."

Phew! That was one marathon session! Over to answers in 15. B.
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Lesson 15 B. Answers to Lesson 15 A.

This brahmin wants wealth. T9: STRIUT: Y=Y FS3(d |

Therefore he goes to the temple. 3d: &: Iﬂ'\ai T3 |

He does namaskaar to God. &: i‘q’ Fltf'l%ll

He says, " Salutations to this God! | want wealth," so. |: El'q’f?l,” QT-Rfl

qdTg ;| I e TSI | gl

5. That God tells that brahmin that, "Kings give wealth to brahmins, |
give liberation to devotees." |: i‘q’: as ElRUIRED IR qd, "<qqt:
AR U T=aied, 38 Wehvd: Higl F=3TiH |"

6. Then that God does not look at that brahmin. dql |: i‘q’: SIEIFUE
9 |

7. He looks elsewhere. &: 113 9&4(d|

8. Thatis God. &: aa: |

9. Is that brahmin getting angry with Him? MY |: S e §‘?3I'I%I?

10.No. 4 |

11. He thinks, "I am going to the king for wealth," so. &: F=Md, "8
g 4 TSy | gfdl

12. Now that brahmin does not wait but goes to that palace. QEF'ITFI:
SeT0T: | forsfel 9eg o ST s |

13. He does namaskara to the king and says, " Salutations to this King!
|: 4 T T T "TqS JIE ||

14.1 do not want unhappiness. 31 :@ 9 TESH |

15. Therefore, for happiness, | want wealth. 31d: @™ %WWT&I |"

16. That king gives that brahmin wealth. €: <Jq: T SR O T3l |

17.He gives him clothes too. &: T T A TR |

18. Now that brahmin becomes a rich man. 3T §: H&IUI: gieih: ¥ald |

A owonoe
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19. He always lives with happiness. ®: Hql ﬁ@ﬂ St |

20.The farmer sees that brahmin.F9%: d S&I0I =4l |

21. He thinks that | also want wealth. §: Fe=afd Id T&H 31U G,
T

22.But | am not going to that king for wealth. 9G] 1€ 9™ d 4 4
=3I |

23.1 am sowing seeds for crop. 318 T&I™ ST T |

24.When people buy those grains with wealth, then | am also becoming
a rich man. 91 STT: ¥ed TTfel T« ST, daT ST&H, 3T dieih:
CElIE]

25.The girl is crying. ST Feafd |

26.The boy asks her, " Are you crying?" ..thus. ST df J=3(d, ""& Feard
T ?" 3l

27.That girl says."Yes.l am crying for milk." &1 ST agid," T8 gV
el | "

28.Then that boy goes to the kitchen. Aql @: JSHh: THRIE T3 |

29.He sees milk there. = |: 7 T=4(d |

30.He brings milk for that girl. &: RIS (e P| gT‘c?IILBTIT-IEI'f?\-II

31. He gives her milk. @: T3 g4 T=sid|

32.She laughs. @ &4(d |

33.He also laughs with her. 1 €& &: 314 &4 |

34.Those boys are playing with those bats and those balls. d TR
que: d: Fegh: d FHle(d |

35.Ram beats Shyam with that bat. TH: ZTH o gUed dredid |

36.Shyam falls. : 9dld |

37.He becomes angry with Ram. §: THE FAN/FAM |

38.Therefore, he also beats him. 31d: G: 314 d dred(d |
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39.Now Ram falls. ?@Fﬁﬂ'ﬂ qdfd |

40.War happens. € Waid |

41, Father comes. Siid: TFTSS(d |

42 He tells all the boys, " | am angry with these two boys." &: g
ASHF: FIN, "TEH TAnAl TSTRRIT FETH |

43.They cry with shame. q S Feq: |

44 \With Father, they go home. S @& ?‘T\T‘EW |

45 Then Ram goes to the bathroom for a bath. Adl TH: F@HE |6
T=3(d |

46 Afterwards Shyam goes to that bathroom for a bath. dgdA«{ 29M: dd.
HE &M@ o3 |

47 .The shopkeeper goes to the shop. AT AU T3 (d |

48.When he enters the shop, then he sees a thief. Il d: MU fa=ita dal
q: AR 9290 |

49 He gets angry with that thief. &: TH =S '3,‘3‘31% |

50.He says to him that all the people too come here. &: d Erq’f?l REESGILE
MY o1 W= |

51. But they buy grain or cloth or books with wealth. 9% o b+ aT a& a1
QeI a1 Ee ShuTfed |

52.But you are a thief. Tg & =N 14 |

53.You enter the shop and steal grain and cloth and books and wealth.
T MUt forzTy 9T 3l Jeahiel e < X |

54.You are a bad man. & gsie: 31 |

55.Then that shopkeeper beats that thief with a stick. dgl &: AMITE: o
R U dredd |

56.People run towards the shop. STHT: AU grd afed |
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57.Now on all four sides of the shop, are those people. 3TAT U qRa:
ST G |

58.They ask that shopkeeper, " Where has this thief come from?" dd
Jeaied, "T: T Fd: ANT=S(A?"

59.Then they also become angry with that thief. dql d 1 R =S
T |

60.They stand on two sides of the thief and beat him with (their) hands.
d = 3Wa: fasfe e o areard |

61. There, is a school. = QIERATA IR |

62.From here students are going to that school for study. ¥d: ®=: di
TSR & o3 |

63.From there also students come to this school for study. dd: Y BE:
Tl TSNS &1 AT |

64.They all come to this school for knowledge. d Ol rSSt FEE
ANT=S |

65.The teachers say, " Let there be welfare to these students." STSATYI:
g "SR TR |

3k %k %k 3k %k %k %k %k %k k
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Lesson 16. Pafichami -9 |

And i have promises to keep
And miles to go before i sleep.
Today's lesson will be a simple one, just as i promised last week.

® Primarily, the = fonyfh conveys the meaning "from". The idea that

is conveyed is that "separation” occurs between two or more things.
The fruit falls from the tree. % g&ITd qafd |

° Certain ¥Iq s are naturally connected to ( though not
necessarily governed by) the =4 e |
The king protects the kingdom from the bad men . & ( &fd)
T9: T goieiva: T |
The Ganga arises from the Himalayas. 3¢ + 31\(3?.@[1%)
T et IgEf |
The farmer drives away the goat from his field. 9 (arrw%r)
FYE: AT G TR |
| bring fruits from the shop. 3T + el (BTHW%I)
I R+l AT ATTATH |
She throws the ball from (her) hand. &9, ()
e "Fear"is governed by the gl ek Whenever the word "fear"

appears in a sentence, whoever scares you( or does not scare you)
just has to fall into the =4t fMfh | Since the verb form is a

maverick, to simplify the issue let's use the term W’F[@l@iaﬁl (3T+4
(317;[*431%) to experience)
3T SIS, AT |
HEHUT: AU, W = A |

® Whoever you receive knowledge from just has to fall into the =
forifeh| o7& 98TH| i learn. 31 918 9&TH | i learn a lesson.
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3EH AR IS 9&TH | i learn a lesson from my teacher.
e Certain 31599 s are always used with the =T |

de: outside.

T 918 g8 R | Outside the house, is a tree.

AR / WH / E‘cﬁq after.

TSI 3TF=H 378 %cb @SN | eat a fruit after a meal
9%k before. ﬁﬁﬁﬂ?{% MY 3 S @'E{Iﬁ | | eat a fruit before a meal

too.
e without.( Also used with the fgdian and Q?'I:I'QT ferre,
remember??)

T, (T /THT) foeT1 o7 TRTd afe: | /=31 | Without Ram i am not
going outside the house.
Last week's " Fedl @7 (Ganesh Chaturthi eatables, to the uninitiated) set

me thinking... we might have cases of indigestion with the number of
sentences set for translations. How about two groups of translations?

1. "Buffet" that will cater to the people who need to "take away" with them
just a few sentences to understand the concept and

2. "Banquet" that will cater to those serious "sit down" students who have
appreciated the long drawn out fare that i have been dishing out so far and
who prefer a solid 3 course practice.

Now that we are equipped to handle Buffet Lessons 16 A and 16 B and
Banquet Lessons 16 C and 16 D, shall we begin?
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Buffet Lesson 16 A Exercises with the Panchami.

Nouns Verbs Avyayas.
&8 plough N ﬁ(‘ﬁéﬁﬁ) ploughs gi8: outside.
H9 cloud M 99 (F9(d) lives. H{dH / ‘ZITFL/E‘GI;'FL
T lake M after.
a9 rain F Y&k before.
H§L Sprout M T without
i<l seed N
& lion M
Hildeer M
= friend N
= Sun M
YhRI light M

9 other( as in

somebody else;
stranger) M

d¥q heat M

Translate:

WO NOL R WNPE

The boy is falling from the palace.
These flowers are falling from that creeper.
This girl is afraid of that bad man.
These farmers drive away these goats from this field.
Rain falls from clouds.
Outside the house is a school.
After play, i go home

Before studies i eat a meal.
Without Krishna, Radha does not dance.( Make sentences with

lﬁﬁ,ﬂﬁmandqﬁﬁﬁtﬁ%ﬁ)

www.chitrapurmath.net
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10.Light arises from the Sun.

11.She brings water from the lake.

12.Sprouts arise from seeds.

13.The students study lessons from the teacher.
14.The deer are afraid of the lion.

15.The two friends are not afraid of the Sun.

Make sentences with:
g and |

And that should do quite nicely.

Check out the Banquet lessons for more practice. Banquets will also include
revision work with all lessons done so far.

>k %k %k ok %k >k %k %k %k *k %k *k

www.chitrapurmath.net © Shri Chitrapur Math 2002-2017 Page 1114



Step by Step Sanskrit Learning Programme. Level 1, Month 3, Lessons 14 - 17D

Buffet Lesson 16 B- Answers to 16 A.

Translated.

1.
2.

o o N o O

The boy is falling from the palace. i qrETETd 9did |
These flowers are falling from that creeper. Tt E[@:ITT'ET IS IERCRIRIK
qdied |

. This girl is afraid of that bad man. W§T TTHhT H@Hgﬁﬂﬁm

I |

These farmers drive away these goats from this field. aq fEhRI: TAT:
3TSTl: AT &SI, TR |

Rain falls from clouds. HERE: a1 qaid |

Outside the house is a school. ‘EI?[EH%: GRS AR |

After play, i go home. HISH: A 3T T =T |

Before studies i eat a meal. 9&Td, 9Tk T8 Wisi+ @IS |

Without Krishna, Radha does not dance. Wﬁ?ﬂ (Fi o, ?ﬂfl?l
o) Tl A A |

10. Light arises from the Sun. ﬁﬂ'l?[(i{qﬁ?[) TRTRT: IEdid |

11. She brings water from the lake. |1 GUEd oY ST+ |

12. Sprouts arise from seeds. STg: Ry Igared |

13. The students study lessons from the teacher. @T=T: TSI TS

gafed |

14. The deer are afraid of the lion. ¥3: %@HWW |
15. The two friends are not afraid of the Sun. R =T ¥4 A STgvaa: |

% 3k 3k 3k %k %k k
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Banquet Lesson 16 C. Exercises with the Panchami.

Nouns Verbs Avyayas.
&8 plough N ﬁ(‘ﬁéﬁﬁ) ploughs gi8: outside.
H9 cloud M 99 (F9(d) lives. H{dH / ‘ZITFL/E‘GI;'FL
T lake M after.
a9 rain F Y&k before.
H§L Sprout M T without
i<l seed N
& lion M
Hildeer M
= friend N
= Sun M
YhRI light M

9 other( as in

somebody else;

stranger) M

d¥q heat M

Translate.

©®NOUAWN e

A garden is outside that house.
On both sides of that house are trees and creepers.
All around that house are flowers.
Those flowers fall from those creepers.
These two fruits fall from these two trees.
A boy is playing there.

He throws the ball from (his) hand .
The farmer sees that rain is falling from the clouds.
He takes the plough and goes outside the house.

10 He goes towards the field.
11.With the plough, he ploughs the field.
© Shri Chitrapur Math 2002-2017 Page 116
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12.He sows seeds.

13.From the seeds, the sprouts arise.

14.He protects those sprouts from the deer (plural).

15.He brings a stick from the house and with it he protects those
sprouts from the deer.

16.0utside the village is a forest.

17.There are trees there.

18.A lion also lives there.

19.The lion is angry with the deer( singular).

20.The deer is afraid of the lion.

21.The deer is also afraid of the farmer.

22.The farmers are not afraid of the deer (dual) but are afraid of the
lion.

23.Before a bath, i play with friends outside the house.

24 .After a bath, i do namaskar to God .

25.When i am reading books, then from those books, knowledge arises.
(if it were only that simple!)

26.Keshav , from the teacher, studies knowledge(l%l?ﬂT) for liberation.

27.This is a king.

28.He protects the kingdom.

29.He protects the kingdom from others (enemies).

30.He protects the kingdom from others (enemies)with arrows.

31.This king is now conquering others.

32.The people feel happy ( experience happiness ...Use those gray cells
here!)

33.They think that this king is always protecting them from unhappiness.

34.Suresh is a friend.

35.This friend is looking at the Sun.

36.He sees that light is arising from the sun.

37.The heat is also arising from the Sun... this he experiences.

38.The Sun sees this friend.

39.He thinks that | am not protecting Suresh from the light and heat.

40.Then he tells the cloud, " | am giving light and heat to Suresh but you
are protecting Suresh from the light and heat.
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41.You are not giving Suresh light and heat, you are giving him
rain."...so.

42.From where have those boys come?

43.Those boys have come from that village.

44.From the village they are going towards the cinema.

45.With those boys are the girls too.

46.0n all sides of the boys and girls are teachers.

47.The teachers are protecting the boys and girls from bad people
always.

48.Without the teachers, the boys and girls are not going outside the
village.

49.Are you going outside the house now?

50.Yes, | am going outside the house now.

51.1 am going to the lake.

52.Are you also coming?

53.No, | am going to the shop and am buying books.

54.From there, i am going to school.

55.1 am giving those books to Pushpa.

56.She is a friend.

57.Without Pushpa, i am not going to the lake.

58.0utside the village is a lake.

59.From the lake, Sharada brings water.

60.She gives that water to the boy.

61.That boy tells Sharada, "I am feeling happy now."

3k 3k 3k 3k %k 3k %k %k %k k %k %k %k
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Banquet Lesson 16 D. Answers to Lesson 16 C.
Translated.
1. Agarden is outside that house. T Td. J&Td 97&: SUH R |

2. On both sides of that house are trees and creepers. dd 3[&H 3HAd:
geT: Sdi: 9 |ied |

3. All around that house are flowers. EIF[TE gRa: EIF’:lT'faT qfed |

Those flowers fall from those creepers. Tt l1531'|'fﬁT AR SdY:

ERIES]

These two fruits fall from these two trees. d % Tani gt gdd: |

A boy is playing there. ST&®: a3 Field |

He throws the ball from (his) hand.&: MWW |

The farmer sees that rain is falling from the clouds.&%: TXAMd W‘[H‘ﬁ

HeR: qdid |

9. He takes the plough and goes outside the house. &: & T IJald,
iE: 9 =30 |

10. He goes towards the field. |: &= 9d 731 |

11. With the plough, he ploughs the field. g @: &t |

12. He sows seeds. &: FsTli«l aqfd|

13. From the seeds, the sprouts arise. feeh: SELE Igdf=|

14. He protects those sprouts from the deer (plural). §: dl< TgUA,
TR T |

15. He brings a stick from the house and with it he protects those
sprouts from the deer. |: *léchqU\'sl-LdildQI?l g a: i 3TgUA,

TR T |
16. Outside the village is a forest. Wafg: EFIIL?aTﬁHI
17. There are trees there. o= g&T: &ied |
18. A lion also lives there. = f&@&: =1y a&(fq |

»

© N o O
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19. The lion is angry with the deer( singular). ﬁqa UL W |
20.The deer is afraid of the lion. {3 I%EIFLWTL?:@W% |
21. The deer is also afraid of the farmer. §3: Waﬂ'ﬁ W@Iﬂ‘*ﬁﬁ |

22.The farmers are not afraid of the deer (dual) but are afraid of the
lion. FEHT: TR ¥ =1 TPt T FEaTd, o STt |

23.Before a bath, i play with friends outside the house. ®THId 9Tk 18
it Q: TETq 9 Ser |

24 After a bath, i do namaskar to God. WW%% THIH |

25.When i am reading books, then from those books, knowledge arises.
T T G TS0 dal oh: e FFH Sgdrd |

26.Keshav , from the teacher, studies knowledge(T%EIIT) for liberation.
20 H AR, i G |

27 .This is a king. T§: €9: |

28 He protects the kingdom. : <4 T&Ifd |

29.He protects the kingdom from others (enemies). |: o e @I |

30.He protects the kingdom from others (enemies)with arrows. &: 0
TR T |

31. This king is now conquering others. E'F'ﬁ'l:[@l: q: o S |

32.The people (feel happy) experience happiness. SI-l: ﬁ'@'ﬁ[ﬂﬂﬂaﬁ_v{ |
33.They think that this king is always protecting them from unhappiness.

o el od w: 9 |e g T8 |

34 Suresh is a friend. ﬂi’ﬂ: i s1Ra |

35.This friend is looking at the Sun. Tad = st 9=4id |

36.He sees that light is arising from the sun. &: PERIG qd UhIl: ﬁ:ﬁﬂ?{
Jdid |

37.The heat is also arising from the Sun ...this he experiences. dq: Y
T I¢Afd ... Tad |: STgHad |

38.The Sun sees this friend. = Tad = 9241 |
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39.He thinks that | am not protecting Suresh from the light and heat.
T: Faeafa od o GGl TR ardid = 7 W& |

40.Then he tells the cloud, dal |: T HYA
" | am giving light and heat to Suresh 3T& I Feh1xi A9 = =34 |
but you are protecting Suresh from the light and heat. 9g ™ Efﬁ[

SRR, T, = i |

41.You are not giving Suresh light and heat ™ & J&X a4 9 9 T=31d
| you are giving him rain."...so. o T 99 T 150 |

42 From where have those boys come? d TTSHT: Sd: AT led?

43.Those boys have come from that village. d SThT: T T
AT |

44 From the village they are going towards the cinema. DI S| T'%ENETE
ufd =i~ |

45.With those boys are the girls too. qMSh: TE ATSRT: Y Ged |

46.0n all sides of the boys and girls are teachers. TISHT aTfsHT: T gRa:
TATIHT: |ied|

47 .The teachers are protecting the boyssnd girls from bad people
always. STATIRI: TSR ANART: = T T &l |

48.Without the teachers, the boys and girls are not going outside the
village. TR o= (also correct are ITATIHT & and AATE:

o) ASHT: AMSHT: ATH q(E: = TSt |

49 Are you going outside the house now? MY E’Fﬁ'a’ *léchEﬂ%: TS ?

50.Yes, | am going outside the house now. 3TTH 3Tl 8 TR T
=3I |

51.1 am going to the lake. 3T& R =3 |

52.Are you also coming? aqaﬂ'ﬁ AN 1%11?

53.No, | am going to the shop and am buying books. ¥ 3&H 90| T3TH
QeI SHIOTTH |
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54.From there, i am going to school. dd: 318 JI&2Ni TSI |
55.1 am giving those books to Pushpa. 343‘3;'3?@ GG ‘gl,tdehlﬁ TS |
56.She is a friend. T f#1H|
57.Without Pushpa, i am not going to the lake. IS/ ET: f=T (et
o1/ GoT {31 T A =1 |
58.0utside the village is a lake. T f&: GUET: AR |
59.From the lake, Sharada brings water. Hfld(chQlI(d\I \rlc':l-L\lel*-{l?l |
60.She gives that water to the boy. @1 T&HH dd TS T=3(d |
61. That boy tells Sharada, " | am feeling happy now." &: dic5h: ﬂﬂ'q’la
FHN, "3 GEH AFATH| "

3k 3k %k 3k %k >k %k %k %k k %k k
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Lesson 17. Relatively Possessed by il

e The T8I fhifw primarily denotes 1. possession and 2 .how someone

is related to another.
What belongs to whom. Who is who's wife. Whose house is biggest.
Whose salary is heftiest. Whose jewellery cost most..

A wonderfully gossipy T | if you ask me. So what if i don't have a
Pinnochio like long and pokey nose, the g8t fIRE serves the purpose just
as well...yes Sireee!!! So we have...
THHE J&dhH | I IeH | JYA™E1: STAH | 988 =1 |

Working with the g8t fafk requires you to know the words for relations

(at least a few to begin with): father, mother, brother, sister, husband and
wife.

Now some of them are FhIU«d words. The basic root word for father

being T'\‘ﬁ and of mother being ATJ | You needn't know how to decline
them at this point in time. The form that you will use in today's sentences:
JHTRh Teha= are forms you are already familiar with.... Tt and | |

Your sentences will therefore read: TH& UdT a2Y: (Yes, you have been

told that Sh: is "Father", and it definitely is. T'\‘ﬁ is a synonym )

Hope the keys to your memory bank are handy and well oiled. Do you
recall Lesson 5 ? Jagadeesha had very happily announced HH dH FlTl?f\'iltl
Let me give you a few sentences as examples:

Y o FWH;: | My father is Krishnanand.( R is not mandatory since it
is clearly understood, but you can add it if you like.)
TH HIAT A5sT | My mother is Shailaja.

Wad: M [d9a: | Your name is Vivek.
AT ng?ﬁ | Your name is Durga.
(HE S&TUT 371 |fed | Ram's clothes are here.
e 95 9adid | The tree's leaf falls.
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e HH, HId: and HIHAL: are 8 fonifs Tha= declined forms .

e HH ("mine" or "my" as in: This book is mine OR My name is Shrek...
Tdg Jdsh HH ST | §H A 2% ) The root word (of |, two of us and
we) here is 3THq |

e ¥HId: ( "yours" masculine: {dd: J&IhH )Root word is W |

e HAM: ( "yours" feminine WIAT: Y&I%H )Root word, vt |

All this " coloured grammar stuff" is simply for your information. For the

moment, we need just those three words, #H, Hdd: and HIAT:, to form

sentences. So thou shalt panic not.
Here are the already declined words that you will need to use:

O father, ATl mother, Al brother, AR sister, qfa: husband, 341'5!'? wife.
HH mine, Add:and HIAT: yours.

An interesting idea: Do you remember our Chaturthi lesson with
SHHEE! 91: ? What has been done here is that two words have been

put together and then used as a dual word from the correct vibhakti. Keep
this in mind when doing today's exercises.

With next week's lesson, we will have finished our vibhaktis
(Celebration Time!!l) and i will begin to introduce to you all our whatever

G« words. Our Supplement section will soon begin to look like a well fed

cat. These whatever &II~dwords will also lose their mysterious halo. Poor
things.
Ready then for our Buffet and Banquet with a few close relatives?
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Buffet Lesson 17 A. Exercises with Shashthr.

Nouns Verbs Avyayas.

Hg® Bear M(animal!)

@Fﬂarmy F

dicdd Maternal/
paternal love. N

¢d messenger M

Translate.

. Krishna's father is Vasudeva.

. His mother is Devaki.

. Balarama is Krishna's brother.

. Subhadra is his sister.

. The Pandavas' father is Pandu.

. Sharada's book is here.

. Manohar's house is there.

. The Sun's light is everywhere.

. This is my messenger.

10. These are Kamat's restaurants.
11. These are Anuradha's tortoises.
12. These two girls are mine.

13. Those two boys are yours (F)
14. Ram's wife is Sita.

15. Sita's husband is Ram.

My wife is Mrs. Shrek.( no, no, don't translate that! It was meant to wipe
that frown off {dd: / HddT:brow!)
16. Luv and Kush's father is Ram.
17. Ram's sons are Luv and Kush.

18. Kaushalya and Sumitra's husband is Dasharath.
19. Raavan sees Ram's army. ( Trip-up alert)

OO NOOULLD WN -
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20. The work-place's president is Mohan.
21. The students' teacher is Shyam

22. The two boys' mother is Tara.

23. The two students' bags are here.

24. The two teachers' school is there.

A sentence for each hour of the day!
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Buffet Lesson 17 B. Answers to Lesson 17A.

Krishna's father is Vasudeva. 39T BG]| a”rgia: |
His mother is Devaki. d& HIdl aclq;\l |
Balarama is Krishna's brother. I&{H: HH AT |
Subhadra is his sister. GHET T& AN |
The Pandavas' father is Pandu. Wﬁmwg: |
Sharada's book is here. FTNEMET: T 3T 3T |
Manohar's house is there. ARG T R |
The Sun's light is everywhere. (;Lti(-*‘-l SeRTET: TaS 3R |
. This is my messenger. T9: {#H &d: |
10. These are Kamat's restaurants. TdTfel FHIHTE B"J@FETUTI
11. These are Anuradha's tortoises. Td ST $1:IT: |
12. These two girls are mine. Td AY ik |
13. Those two boys are yours (F) dt ASH AT & |
14. Ram's wife is Sita. THE 3T |l |
15. Sita's husband is Ram. GidTET: 9id: TH: |
16. Luv and Kush's father is Ram. SaHaET: a1 T9: |

Also correct: S99 A T a1 TH: |

Also correct: e FIEA = a1 TH: |

17.Ram's sons are Luv and Kush. TH&d Gt SS9 |

Also correct: UHET El?ﬁ &d: HRA: A& |
18. Kaushalya and Sumitra's husband is Dasharath. ﬁ'ilc‘«‘l‘lﬁ’l’hﬁﬁ: qfd:
RNY: |
Also correct: RIZAMEN: | ﬁﬁ:ﬁmz T gfa: R |
Also correct: HIRIATET: G T qfd: TIRA: |

V © N oo s Ww N
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19. Raavan sees Ram's army. {dUT: {HE Gt w=aid |

20.The work-place's president is Mohan. FATSTE T HiEgA: |
21.The students' teacher is Shyam. STATUMH AT h: ITH: |
22.The two boys' mother is Tara. TSHAT: AAT AN |

23.The two students' bags are here. SFEI: F{\?ﬁ SIERSS

24.The two teachers' school is there. STATIHRAT: TSI aF AR |

By the way, my name is not Shrek. HH €dH o AT | And that's the whole
truth and nothing but the truth so help me God.
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Banquet Lesson 17 C. Exercises with the Shashthi.

Nouns Verbs Avyayas.

g Bear M(animal!)

@Fﬂarmy F

dicdd Maternal/
paternal love. N

¢d messenger M

Clue: Our Subhashita section is also a good source for new words!

1. Dasharath is Ayodhya's king.
Ayodhya is Dasharath's kingdom.

3. Dasharath's wives are Kaushalya and Sumitra.(Kaikeyi is ﬁih'lTlr_cl ...she

will come under the spotlight a few lessons from now.)
His sons are Ram, Lakshman, Bharat and Shatrughn.
Kaushalya and Sumitra's husband is Dasharath.

The boys' father is Dasharath.

Dasharath looks at (his) sons with love.

He thinks , "These are my sons."

. The boys' father Dasharath is feeling unhappy.

10 His wife is troubling him.

11.She says that, "My son is Bharat.

12.My son is not Ram.

13.My son is becoming king ,not Ram."...thus.

14.Bharat is angry with Manthara.

15.He tells her, " Am | becoming king?

16.No.

17.My brother Ram is becoming king, not I."

18.Ram is going from the palace towards the forest.
19.With him are his brother Lakshman and his wife Sita too.
20.They are wearing clothes of bark.

21.Ram, Sita and Lakshman go to Chitrakoot.

N

©o®oNO v A

www.chitrapurmath.net © Shri Chitrapur Math 2002-2017 Page 1129




Step by Step Sanskrit Learning Programme. Level 1, Month 3, Lessons 14 - 17D

22.There they experience happiness.

23.Ram's wife Sita sees a deer.

24.She wants that deer.

25.Ram takes his arrows and goes towards the deer.

26.The deer sees Ram and runs .

27.Ram runs too.

28.Sita tells Lakshman that a Rakshas is troubling Ram.

29.1 am afraid of that Rakshas.

30.That Rakshas is wearing ( has donned) the form of a deer.

31.1 am not going outside the house.

32.Therefore Lakshman goes towards Ram .

33.He is now protecting Ram.

34.Lakshman is not protecting Ram's wife Sita (Trip-up alert).

35.Raavan comes and takes away Sita.

36.Sita cries but Ram is not there.

37.Lakshman is also not there.

38.Where is Raavan taking Sita?

39.He is taking her to Lanka.

40.Sita throws her ornament from the Pushpak-Viman.

41.Ram sees her ornament.

42.A bird ( Jatayu) tells him that Raavan is taking Sita to Lanka.

43.Aanjaneya goes to Lanka.

44 .He goes to the Ashoka-vatikaa.

45.Ashoka-vatikaa is Raavan's garden.

46.Sita is there.

47.He throws Ram's ornament from the tree.

48.Sita looks at Aanjaneya.

49.Aanjaneya tells her, " | am Ram's messenger.

50.That ornament is His.

51.Now we are going from here."

52.Sita says, "No, | am waiting here.

53.When my husband comes to Lanka, then i am going to Ayodhya with
Him."

54.Ram also comes to Lanka with Lakshman and (his) friends.

www.chitrapurmath.net © Shri Chitrapur Math 2002-2017 Page 1130



Step by Step Sanskrit Learning Programme. Level 1, Month 3, Lessons 14 - 17D

55.Ram's friends are Aanjaneya, Sugreeva, Vibhishana, monkeys and
bears.

56.War happens.

57.Ram throws arrows from (his) hand. ( To say where the arrows fall,

we'll have to wait for the TaHI s )

58.Raavan does not live.

59.The army conquers Lanka.

60.Ram goes towards Sita.

61.He speaks to her with kind and gentle words.
62.Sita feels happy.

63.Sita comes to Ayodhya with Ram.

64.They live with happiness.

%k 3k %k 3k %k %k 3k %k %k %k *k
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Banquet Lesson 17 D. Answers to Lesson 17 C.

1. Dasharath is Ayodhya's king. T2N: STATSAT: F9: IR |
2. Ayodhya is Dasharath's kingdom. AT ST [T TR |

N

3. Dasharath's wives are Kaushalya and Sumitra. QR A R
gt = |

4. His sons are Ram, Lakshman, Bharat and Shatrughn. d& 9=T: {H:
HEHUT: W{d: IFH: A |

5. Kaushalya and Sumitra's husband is Dasharath. °l;\lf<|c'<-ll{:l,lr4\-l>l“-{\|: qid:

RNY: |

Also correct: HIRIITT: < G 9 9id: GaRg: ARG | And so is

FIRATET: GHAET: T Gfd: JIR: TR |

The boys' father is Dasharath. STl [T SXRY: |

Dasharath looks at (his) sons with love. G3R¥: WHFHF*EFI TR |

He thinks , "These are my sons." &: fa=4ld," Td A9 REIE gfed |"

The boys' father Dasharath is feeling unhappy. ITSHTAT T 2R

g+ ST |

10. His wife is troubling him. o&3 91 d gafd |

11. She says that, "My son is Bharat. &1 3&id Id, "q9 A WLd: |

12. My son is not Ram. A#H GA: d {H: |

13. My son is becoming king ,not Ram."...thus. #H 9: «4: wald | T9: |

14, Bharat is angry with Manthara. ¥{d: ol W |

15. He tells her, " Am | becoming king? &: = HIAM," A IE 4 FETH?

16.No. d

17. My brother Ram is becoming king, not I." HH HTdl TH: <4: wEld |
o=H |"

v ® N o
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18. Ram is going from the palace towards the forest. TH: ITEGTd d i
=3 |

19. With him are his brother Lakshman and his wife Sita too. dd €& T
ST SEHUT: AT = W Gl 1 & |

20.They are wearing clothes of bark. d dehaT= /clcmhc’zlrL‘cllwl':d |

21.Ram, Sita and Lakshman go to Chitrakoot. T#: Hidl S&HUT: F (=
=t |

22.There they experience happiness. dA d g@qwﬁ?—d |

23.Ram's wife Sita sees a deer. TH& WA Gl J9i =4[ |

24.She wants that deer. 1 d 599 53(d |

25.Ram takes (his) arrows and goes towards the deer. TH: GG GRS
i O sl 4 |

26.The deer sees Ram and runs. §91: TH 9341d i 4 |

27.Ram runs too. TH: Y HEMd |

28.Sita tells Lakshman that a Rakshas is troubling Ram. Gl SeHuT
HUAld Id Terd: TH gafd |

29.1 am afraid of that Rakshas. WMHWWW |

30.That Rakshas is wearing ( has donned) the form of a deer . |: U&H:
T &Y YR |

31.1am not going outside the house. 3§ ‘EFLEH%: q TS |

32.Therefore Lakshman goes towards Ram. 3Td: S&HUT: JH T Ie3(d |

33.He is now protecting Ram. STl &: T M |

34 Lakshman is not protecting Ram's wife Sita. S&HUT: YTHE T diai |
@ |

35.Raavan comes and takes away Sita. qdUI: TSI Gidi & 4 |

36.Sita cries but Ram is not there. Il Fwad Tw TH: = AR |

37.Lakshman is also not there. S&§HUT: Y T AR |

www.chitrapurmath.net © Shri Chitrapur Math 2002-2017 Page 1133



Step by Step Sanskrit Learning Programme. Level 1, Month 3, Lessons 14 - 17D

38.Where is Raavan taking Sita? rEUT: Hiat o TAd?

39.He is taking her to Lanka. §: df St 74 |

40.Sita throws (her) ornament from the Pushpak-Viman. Giar Ml
ISR, farafd |

41. Ram sees her ornament. TH: dET: AT 21 |

42 A bird tells him that Raavan is taking Sita to Lanka. @3T: aH Hld qd.
qIUT: Eidit Sgi 790 |

43.Aanjaneya goes to Lanka. STTE<9: S 7T3(d |

44 He goes to the Ashoka-vatikaa. @: STRIHATEH T3 (d |

45 Ashoka-vatikaa is Raavan's garden. SRR TEUR IATH |

46 Sita is there. HiaT a=t 11 |

47 He throws Ram's ornament from the tree. |: THE

48 Sita looks at Aanjaneya. T == 924l |

49 Aanjaneya tells her, " | am Ram's messenger. 3TS4: = weAd, "E
THE gd: "

50.That ornament is His. dg ST & TR |

51. Now we are going from here." ITAT ATEMH Zd: T=34: |

52.Sita says, "No, | am waiting here. Gidn gafd, " |, 7&H 3T T |

53.When my husband comes to Lanka, then i am going to Ayodhya with
Him." I&1 AH 9fd: SEH ANT=S(d el 38 dn |8 STt T=srd |"

54 Ram also comes to Lanka with Lakshman and (his) friends. {#H: Y
SEAUE €8 : T8 9 SFH AN |

55.Ram's friends are Aanjaneya, Sugreeva, Vibhishana, monkeys and
bears. T FENTOT SATSfa: GEila: fRiISUT: I=a: gt = v |

56.War happens. € Wald |

57.Ram throws arrows from (his) hand. TH: &&Td ST fardfd |

58.Raavan does not live. TEUT: & STETd |
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59.The army conquers Lanka. 91 &g ST |
60.Ram goes towards Sita. TH: Qtdt 9fd IT=31d |
61. He speaks to her with kind and gentle words. &: di ERCESC| HE'I%I |

62.Sita feels happy. Hidl & R[]
63.Sita comes to Ayodhya with Ram. i T & AT T3 |

64.They live with happiness. ar ﬁ@?l Sicoll

Refer to Lesson 7A as to why dl has been used.

3k 3k 3k 3k 3k %k %k >k %k 3k 3k %k k 3k
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Summing up Month 3.

By the end of the third month you would have achieved the following...
e Memorized {H, 94, AT, dg and Udq ( all three genders) and know

without a doubt which vibhakti performs what function.
e Be able to recall rules that have been supplied with the introduction
of each vibhakti. For example, 9H: goes with ﬁﬂ?ﬁ forIfE etc.

e Added a further 64 words to your vocabulary...which makes it a
grand total of 200 words!

e Realized that our Subhashita section must not be
ignored...Subhashitas provide us with an accurate representation of
how Sanskrit is written. As and when we memorize them, parts of
those Subhashitas can be used in regular conversations and
compositions. Many new words are introduced in that section which
may not be repeated in our lessons.( How else, my dears, do i make
sure that you are reading them?!)

And now we march into Month 4 !
5k 5k 5k 3k 3k sk sk sk sk sk sk sk sk sk
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